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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1- The questionnaire was intended to ---------- information on eating habits.
1) retain 2) survey 3) elicit 4) presume
2- The prime minister has called on the public to ---------- behind the government.
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole —----——-- of new experiences.
1) core 2) gamut 3yexposure 4) appreciation
4- The discovery of the new planet gave fresh ------=--- to research on life in outer space.
|} status 2) scheme 3) impetus 4} domain
5- It was -----———-- of me to forget to give you the message.
1) pitfall 2) remiss 3)obstacle 4} inhibition
6- The number of old German cars still on the road ---------- to the excellence of their
manutacture.
1) traces 2) arients 3) restores 4} attests
7- Age alone will not ---------- them from getting admission to this university,
1) react 2} distort 3) conduct 4) preclude
8- New technology, the main ---------. of the 1980s, has been a mixed blessing.,
1) legacy 2) surplus 3y expansion 4) circumstance
9- P'm sure my university days appear-happier in ---—----—- than they actually were at the
time.
I') procedure 2) proportion 3} retrospect -4 ) approximation
10- Even ain) ---------- glance at the figures will tell you that sales are down.
[} cursory 2y implicit 3y marginal 43 sustainable
PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

A map 1s alwayssmaller than the real world which it represents. The difference (11) ---------
between the map and the Earth’s surface (12) ---------- a scale ratio. For example, the scale
ratio. 1:350.000 states that one unit of measurement on the map is (13} -=-------- fifty thousand
such units ontthe ground. Therefore, one centimeter on the map amounts 1o 50,000 centimeters
(500 meters) (14)---------- the ground.

A map at a large scale, (15) --=------- 1:10,000, will show a small area of the Earth’s surface
in considerable detail. A smali-scale map, will show a much larger area. but in much less
detail.

M}?&MGQL&UQ)GM)‘@&L&))UQEW'Q)L?'JO?T



Y axiw ARNTA vl e ) YOr B aadh g oges k)
11- 1) in size 2) as s17e 3) from sizes 4) for sizes
12-'1) expresses 2¥is expressing
3) is expressed by 4) will be expressed by
13- 1) equally o 2) equally with 3) equal with 4) equal to
14- 1) in 2y on 3) over 4) under
15- 1) sumilar 23 such as 3) being like 4} the same as

PART C: eading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
| your answer sheet.

Passage 1:

100% solids plural component polyurethane coatings provide corresion protection for
many different structures today, such as storage tanks, oil and gas piping, water and
wastewater pipelines, bridges, ships, and other marine facilities. The products have been
effective because of their outstanding life expectancy and performance, resistance to
agoressively corrosive environments, high abrasion resistance, low temperature curing
capability, strong adhesion, high film build, fast application, and compliance with the
most rigorous regulations on volatile organic compound (VOC) emissions. However, the
selection, application, and inspection of a polvurethane coating can be a difficult task
based on various attributes, including coating chemistry, coating properties, surface
preparation requirements, application parameters, resistance to environmental attack,
economics, and worker safety. Results of various performance laboratory tests on the
lining systems can play a major role in the selection exercise. Laboratory testing of
different lining systems and their various peérformance atiributes form the basis in
establishing correlation with field performance and long term life expectancy. Proper
application and quality assurance of the 100% solids polyurethane coatings are
important because special plural component application equipment is normally required,
and application requirements are more rigorous than conventional low solids or other
types of coatings. New parameters are also involved in the inspection and trouble
shooting of the polyurethane coatings such as defects by off-ratio spraying.

l6-  The underlined *The products™ refersto .....ocvvvenn

1) marine facilities 2) different structures
3) polyurethane coatings 4) water and waste water pipelines

\7-  We understand from the first paragraph that VOC regulations ................... emissions

from polyurethane coatings.

1) ban 2) permut 3) spread 4) scalter
8- The second paragraph begins with ................ of polyurethane coatings.

1) user’s requirements 2) reasons for limitations

3) the criteria for handling 4} the different characteristics -
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19-  Another word used in the passage which is closest in meaning (0 “coating” iS sea...uve.euens
1) hining 2} surface 3y attribute 4) structure
20-  We understand from the text that spraying a coating .......ccocvennnn.n
1) is a difficult task 2} 1s ratio- dependent
3) 15 based on several attributes 4} has bad effects on the environment
Passage 2:

What is Asbestos?

Asbestos is the name of a group of highly fibrous minerals with separable, long, and thin
fibers. Separated asbestos fibers are strong enough and flexible enough to be spun and
woven. Asbestos fibers are heat resistant, making them useful for many industrial
purposes. Because of their durability, asbestos fibers that get into lung tissue will remain
for long period of time. Asbestos describes any of a group of fibrous metamorphic
minerals of the hydrous magnesium silicate variety. The name is derived for its historical
use in lamp wicks; the resistance of asbestos to fire has long been exploited for a variety
of purposes. Asbestos was used in fabrics such as Egyptian burial cloths and
Charlemangne’s tablecloth which according te legend, he threw in a fire to clean.
Ashestos occurs naturally in many forms; it is mined from metamorphic rocks.

When asbestos is used for its resistance to fire or heat, the fibers are often mixed
with cement or woven into fabric or mats. Asbestos is used in brake shoes and gaskets for
its heart resistance, and in the past was used on electric oven and hotplate wiring for its
electrical insulation at elevated temperature, and in building for its lame-retardant and
insulating properties, tensile strength, flexibility, and resistance to chemicals. The
inhalation of some Kinds of asbestos fibers, however, causes various serious illnesses,
including cancer, Thus, most uses of asbestos are banned in many countries. Fiberglass
has been found to be a suitable substitute for thermal insulation, and woven ceramic fiber
performs as well as or better than ashestos as an insulator of high-temperature electrical

conductors.
21-  Asbestos is used in lamp wicks because it v.ooviveviiinnnnnnn.
1) is flexible 2) is fibrous
3)1s fire- resistant 4) can get into long lissues
22-  We know from the passage that ashestos is ............... because it is found in mines.
1} natural ) man- made
3) derived from fabrics 4) extracted from rocks
23-  Paragraph one mainly discusses .....o.ovuennen.
1) the origin of ashestos 2} the history of asbestos
3) the legends aboutasbestos 4) the characieristics of ashesios
24-  Asbestos has to be mixed with cement or woven into fabric or mats 10 .coovvvevneirnnenn..
1) make it water prool 2} stabilize its structure
3ymake shoes and gaskets 4) increase its fire or heat resistivily
25-  The use of ashestos has been forbidden in many countries because it c....ocvenvenne....
1) is a good insulator 2) causes iliness
3) is fire-proof 4} 1s dangerous to burn
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Passage 3:

For many years it has been customary to start an inspection at the top of the structure.
This should include a walk out on the roof to check roof structures with respeet to fire
safety. The inspector should check the elevator machinery room and should note whether
the roof is used for occupancy. If it is, a check should be made to ascertain that proper
egress exists.

The inspector and the escort (or escorts) should observe the condition and
construction of the roof as well as make note of any fire protection problems that may
exist at that level. This is also a good opportunity to view adjacent structures to evaluate
any exposure hazards to the structure being inspected. At some point the inspector
should also look around the outside of the building,

The inspection party should then move to the top floor of the building and make a
thorough inspection of each section of that floor. Progress through the building should be
systematic, and the same principles should be applied down through the entire structure,
including the basement levels.

The inspector should be aware of any diversionary tactics that might be used to keep
him or her out of certain areas. There may be an effort by the escort to steer clear of
hazardous areas or those in which conditions may not be found up to standard. Atiempts
to detour the inspector may not necessarily be made to aveid exposing hazardous
conditions but may be based on a desire to Keep secret certain proprietary processes,
machinery, or research work. Industry often has a great deal at stake in the development
of new processes or products. An unthinking fire inspector can cause a great deal of
hardship to an industry by passing on such proprietary information. Escorts may need to
obtain special permission for the fire inspector to go into certain spaces in which these
processes are being carried out. This may mean a delay; however, it is important that the
inspector wait for permission.

The first paragraph discusses the fact that inspecting any structure from the top has
often been for the purpose of ........ ... ..

1} fire safety 2 certainiy 3Y proper caress 4} rool occupancy

From the text, it is understood that the goal of the inspector and the escorts in observing
the condition and construction of the roof and fire protection problems is (o .o.oveeeenn.a..
the building.

1) look around outside 21 note any fire protection of

3) prevent eXpose hazards (o 4) view the adjacent structures of

From the text, it can be understood that inspection of the entire building has to be
thorough and systematic so as not (o ............. of the building.

1) steer the hazards 2) exclude any areas

3) divert inspection tacties 4) revert the inspection process

The phrase “at stake™ here is closest in meaning to ..............

| ) endure 2) labor 3) being compromised 4) being nisked

Passing on proprictary information can lead to ........ crernssaana

|y severe prublems for industry 2} carelessness of the inspector

3} attainment of inspection permission 4) Tailure of the thorough inspection
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